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PROOFS USING DISTANCE AND SLOPE
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The diagonals of a parallelogram bisect cach other. For #1-2, prove that ABCD is a parallelogram for

each case by showing that AE is congruent to EC and BE is congruent to ED.
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The diagonals of a rectangle are congruent. For #3-5, prove that ABCD is a rectangle for each case by
_showing that diagonals AC and BD are congruent.
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T'he diagonals of a thombus are perpendicular. For #6-8, prove that ABCD is a rhombus for each case by

showing that the slopes of diagonals AC and BD are opposite reciprocals

of each other.
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The diagonals of a square are both congruent and perpendicular. For #9-10, prove t}}at ABCD is a square
for each case by showing that diagonal AC is congruent to BD and that the slopes of AC and BD are

_opposite reciprocals. Show work.
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